DNHTKEFRFTERANES (RBLERX)

£{AEtE 7000 ha
EBHE: AHTKEGBULER)ICRLHEKFEOEARTE - BEHEEZREATD EEEE 7000 ha
o Al ¥ = H i ¥ =
B[R
ERAE = FISHERSR
TRERFBOEKRA SO = F2EHERSR
EXBHORE = FIFHERSR
IREMERDOEEDRE = FLASHERSR
EKEEEE = FHEHERSR
e F LS T = FoSHERSR
MBEEA~NDXKE =X FISHERSR
REBEEDVERK = FOEHERSR
FTEEE = FOSHERSR
INEE
EXEEDHER =X FI0SHMRSHE
ERAE = FNSHERSHE
EXBHOBRE =X F125RHRSHE
FEKEREE = F1I3FHMRSRE
BRRWIBISETE =X FI4SHARSHE
TAKLEZKBKERLDREL = FISFHMRS R
MBEEDRTE =X F16SHMRSHE
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BEthE 1 3t E10SBiRSHE
INET
EEALE 3
% ey Ee I
EERE EFRERERE | n
A L Z B 2 {kEHE | n
BEIE 1 =
R 2 {kEHE | n
BEIE 1 =
RIIERIE &t
s 23
LML 5
105D
SHE B4R 1 =

EBEREH




EAFTEB (BMAHLTKE: BKFEDH)

HAEEE  300ha  XEEFE  700.0ha
EEER Tagms | BEE | FERER | B (A) | EERB) | EEi(C) | BffiE e 3 miE 8
ANGER%E Ll HWIE HWIE
15 Bl
1. BEREE
1-1 IR Hh 0.5 1.5 1.0
1-2 T EEEERIREEE 1.0 0.5 05
1-3  EKETEREEHIINEREE 0.5 15 15 15 05
1-4  MKEEREEEHIINEREE
1-5  BEREDOTFKERUVERERLEQRKR 0.5 1.0
1-6  FEHEEE 0.5 1.0
INE 0.0 0.5 2.0 45 40 20 0.5
0 0 0 0 0 0 0 0 0.25 1.593
25 Hif
2. TAKEEBOELRAHOEDR 0.5 15 10
0 0 0 0 0 0 0 0 0.25 0.962
3EHR
3. EXRFHEDRE
3-1 BEEE 0.5 1.0
3-2 TE X DR 0.5 0.5 05
3-3 TEIL—LDETE 1.5 2.0 25 2.0 1.0
3-4  EKERHEA 0.5 15 2.0 15 15
3-5 FtEEK= 1.0 0.5 0.5
3-6 FAABREEER 0.5 1.0 15 0.5 0.5
3-7 TEEAE RS 1.0 0.5 0.5
3-8 =TI B AR as
39 HRHEREHOERE
3-10  FRETHEDHESR 0.5 1.0
3-11 FEHEEE 1.0 0.5 0.5 05
INE 1.0 0.5 35 9.0 85 55 3.0
0 0 0 0 0 0 0 0 0.25 1.593
45 E 1R
4. IBRMERDEE DT
-1 AIBISHTE 0EE
4-2  RKE QiR R ST
4-3 BEIL—LO%E 1.0 0.5 0.5 0.5 1.0
-4 ROTHEOBEMHDRE
4-5  FEHERBE 0.5 1.0 05
INE 0.0 0.5 2.0 1.0 0.5 0.5 1.0
0 0 0 0 0 0 0 0 0.25 0.962

BESH (2KFTEB)




SHESHN(2KETEB)

( 700.0/300 ) %
1593

= ( 280.0/300 ) **°
= 0962

2KRETEB (BMAXTHKE: FKETEDH)
HEMmME  300ha XREFE  700.0ha
EEER Tagms | BEE | FERER | B (A) | EERB) | EEi(C) | BffiE e 3 miE 8
ANGER%E Ll #HIE HWIE
55 Eifff
. EKEEFE
5-1 H=E Gl&ELE)
5-2 FEEX 1.0 0.5 0.5 0.5 1.0
5-3 REHE 1.0 0.5 0.5 0.5 1.0
5-4  fitErmE 0.5 1.0 15 05 05
5-5 FEEEEIERGEANE
5-6 FEHEEE 1.0 0.5 05
INE 0.0 1.0 3.0 25 25 15 25
0 0 0 0 0 0 0 0 0.25 0.962
65 Hfff
- EI R
6-1 KA KX DS
6-2 FRNERSFEDE
6-3 REIHE 1.0 0.5 0.5 0.5 1.0
6-4 HEtiE 0.5 15 15 0.5 1.0
6-5 [ E 1 Rk 0.5 1.0 15 0.5 05
6-6 FEEEEIEGEANE
6-7 FEHEEE 0.5 15 20
INE 0.5 1.5 40 3.0 35 15 25
0 0 0 0 0 0 0 0 0.25 1.593
_ 15 B
. BGTEORE
-1 BEEEE 1.0 0.5 0.5 05 10
7-2 EEHE 0.5 1.0 05 1.0
INE 0.0 0.0 15 1.5 1.0 15 1.0
0 0 0 0 0 0 0 0 0.25 0.962
8E H{f
RHEEZEDER 0.5 15 15 15 1.0
0 0 0 0 0 0 0 0 0.25 1.593
I 9E Hiff
. REHHE 1.0 1.0 20 20
0 0 0 0 0 0 0 0.25 1.593
& &t 15 5.5 19.0 26.5 245 13.5 10.5
0 0 0 0 0 0 0 0
I15H1,3.689 IHE24,5,7
X REE x = 700.0ha SR EE x = 9800ha
WIEZRE (x/300) **° IERE b = (x/300) %%




EXRFEB (BMAKTKE: FKEEDH)

HEME  50ha XREHE  700.0ha
EFEE s | BAE | FTEEE | B | #Em) | #Him(C) | Effig S 33 miE B
AGEHEE g &t #WiE #HIE
105 Hifh
BEREEDORER 0.5 15 10 15
0 0 0 0 0 0 0 0.20 3.279 0
1S E
 EBSRE
2-1 BEE T E ) & FHINE - 21 05 10 15 10
2-2 TFAKEERE-#HEBEESEKEOMER 0.5 10 05
2-3 FEHERE 0.5 0.5 05
INEE 0.5 10 20 25 15 0.0
0 0 0 0 0 0 0 0.20 3.279 0
_ 125 B
. BERFIEOKRE
3-1 A X E U XEHEIL—LDRTE 1.5 2.0 25 35 0.5
3-2 FEFEK=E.FEEN=DERE 1.0 2.0 25 25 15
3-3  FLHERE 0.5 0.5 10
INEE 0.5 3.0 5.0 5.0 6.0 20
0 0 0 0 0 0 0 0.20 3.279 0
135 Hif
EKEERE
4-1 IEIIE(ﬂULﬂ-I-J:)
4-2 MeERSRE-SROELRFEH 0.5 15 15 2.0 0.5
4-3 BiRIL—FLDETE 0.5 15 10 15
-4 READRUVEEIE 0.5 0.5 15 15 0.5
4-5 REFHE 0.5 1.0 05
-6 FKEEFELDRAE
-7 EAITERER 0.5 10 0.5
4-8 BREEHtEEEER 0.5 0.5 15 05
4-9 REEEDHBZFERIERFEXKEE) 0.5 10 0.5
4-10 HREEOIERTFERER BIERE) A& ES
4-11 HREEEDREFERAER 05 10
4-12  TFKEETE—REER 0.5 10
4-13  HHEEYOBERER BlIRE)
4-14 PBLEEEEREHANEER 0.5 0.5 10
4-15 BEEZXEQOEH 0.5 10 05
4-16  FELEHEEE 0.5 10 0.5
N 1.0 40 6.5 10.5 9.0 20
0 0 0 0 0 0 0 0.20 2171 0

RESH (FXETEB)




EXRFEB (BMAKTKE: FKEEDH)

HEME  50ha XREHE  700.0ha
EFEE s | BAE | FTEEE | B | #Em) | #Him(C) | Effig S 33 miE B
AGEHEE g &t HiE #HIE
145 Hfh
5. R MIBFEE
5-1 HARF#
5-2 FERRAKEDKRET 0.5 10 0.5 05
5-3 KB RVFEMLEBEAXDKR
5-4  #EESEAAOBKRE
5-5 A=, KEHE 0.5 15 25 25 10
5-6  JEERETE
5-7 EEEE
5-8 HHERE{ER 0.5 15 25 25 25
5-9 MEEXZEDOEH 0.5 15 15 0.5
5-10 FEHERE 15 1.0 05
INEE 1.5 3.0 6.0 7.0 6.0 35
0 0 0 0 0 0 0 0.20 3.279 0
155 B
6. FTKUIEIZLDKERLDERL
6-1 BGR e KB D KR 0.5 10
6-2  TAKUEIZKDKEMLDEEL 0.5 1.0 0.5
6-3 FLHERE 0.5 10 0.5
INEE 0.5 15 2.0 15 0.0 0.0
0 0 0 0 0 0 0 0.20 3.279 0
165 B
1. MBGTEIDEE
7-1 FERZETE 0.5 10 0.5 05
-2 EEJNEEXEZEOEH 05 10 05 0.5
7-3  BARETE 0.5 0.5 1.0
7-4 TKEFRAHFOREL 0.5 10 0.5 0.5
-5 FEHERE 05 1.0 05
/NG 0.5 25 35 3.0 15 0.5
0 0 0 0 0 0 0 0.20 3.279 0
] 175 Eff
8. FELMEDERERUVEEHIFICEAYT S EHMGA S
8-1 MERDREICET A
[iES 0.5 1.0 10 05
8-2 RO EEDH#IFCEAT LA
EE R TIG - KR EIRLIE 10 2.0 25 15 0.5
8-3 FRUMLGZEZORELBLEER)
8-4 FEHERE 1.0 1.0
INEE 1.0 25 3.0 35 2.0 0.5
0 0 0 0 0 0 0 0.20 0

RESH (FXETEB)




EXRFEB (BMAKTKE: FKEEDH)

HEME  50ha XREHE  700.0ha
EEI1EH s | BAE | FTEEE | B | #Em) | #Him(C) | Effig 33 33 miE B
AGEHEE g &t ## 1E #HIE
185 Hifh
9. RHENEDE
9-1 EE kS 0.5 10
9-2  FFEFERBAE 0.5 2.0 15 05
9-3 HEREEED 0.5 10 0.5 0.5
-4 ZFOMSEREFED 0.5 10 0.5 0.5
9-5 FEHEEE 0.5 1.0 05
INEE 0.5 25 5.0 3.0 15 05
0 0 0 0 0 0 0 0.20 3.279 0
195 E{f
10. REtipE 1.0 2.0 20 20
0 0 0 0 0 0 0 0.20 3.279 0
& &t 0.0 75 235 36.0 395 275 9.0
0 0 0 0 0 0 0 0 0
4. BKEEFE LS 4. FHEKEEFE
X R EE x = 700.0ha *RETE x = 280.0ha
HIERE ¢ = (x/50) % HIER S ¢ = (x/50)°%

RESH (FXETEB)

= (700.0/50 ) **

3.279

= (280.0/50 ) **

217




